Mie / EF / Seite 28 Aufgabe 10 Seite 1 von 4

Aufgabe 10
a) Schnittpunkt mit der y-Achse:

f(0)=(0*—-0*4+4)-5-0=0

5y(010)
Schnittpunkte mit der x-Achse:
flx)=0
(x* = x> +4)-5x=0
5x=0
X1 = 0
x—xr+4=0
Seix? =z
22 —z+4=0
2
1 1
=_-= = —4
=)
1 3
= — :l: ——
2 34
Keine Losung!
N(0]0)

b) Schnittpunkt mit der y-Achse:
£(0) = (0*—8-0*+16)(0* —=5-0) =0

Sy (010)
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Schnittpunkte mit der x-Achse:

f(x) =0

(x* — 8x% +16)(x*> —5x) =0
x> —5x =0

x-(x=5)=0

x1 =0

x—5=0

x2:5

x*—8x2+16=0
Seix? =z

22 —82416=0

2
21,2 = § + <8> —16

2 2
=440
x> =4
X34 = A2

Ni(0]0), N2(5]0), N3(=2]0), Na(2]0)
¢) Schnittpunkt mit der y-Achse:
£(0)=2-0°-32-0*+128-0%> =0

Sy (010)
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Schnittpunkte mit der x-Achse:

f(x)=0

2x0 — 32x* +128x% = 0

x? - (2x* —32x% +128) = 0
=0

x1 =0

2x* —32x2 +128 =0
xt—16x2 464 =0

Seix? =1z

22— 162464 =0

2
16 16

=8+0
x* =8

X34 = +V8 = 42V2
N; (0] 0), Nz(—zfz|o), Ns(zfz\o)

d) Schnittpunkt mit der y-Achse:

£(0) = <04 — % 0% +4,5> (0* —16) = —72

Sy (0] -72)
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Schnittpunkte mit der x-Achse:

f(x)=0
4
<x4 — %xz —|—4,5) (x* —16) =0
¥t —16=0
=16
X12 = +2

x4—%x2+4,5:0
Seix? =z

zz—%z+4,5=0

2
34 34
212 = 77 + ( ) —4,5

16 16
= 2,125+ 0,125
z1 =2
2y =225
=2
X34 = +2
x> =225
xs56 = +1,5

Ni(-2]0), N2(2]0), Ns(-v2]0),

Ny (V210), Ns(~15]0), Ne(15]0)



